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SSC CHSL (10+2) 2022

® Three different positions of the same dice are shown below. What is the

number on the face opposite to 1?

* Ueh BT UTH hT o1 TeT-a1enT fRerferat ier Foriedt 8 ) 1 o AT aTel Bedeh
TR R HT EET 22




SSC CHSL (10+2) 2022

® Out of the given options, three are alike in a certain way. However, one

option is not like the other three. Select the option which is different.

o fou U foreReat W A/, i vk [Ata adieh & aHTE ) BTeTieh, Uk faehed 317
a1 <A1 aE T 21 36 fareRey &t = it s i 2
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SSC CHSL (10+2) 2022

* If BASE = 27, then what will be the value of COLLECTION?




SSC CHSL (10+2) 2022

* If I stands for '+', J stands for 'x', K stands for '-' and L stands for '+', then

in the following equation '?' What will come in place of ?

o T [ AT 3T '+' §, J T A 'x' §, K AT 3797 '-' § 3T L <hT 31 '+' 8, v
fFreteTRaa TiteRtoT I 12" o TUTH U ST STTUT 2

*37L25K(14J2) L (2J13) K (62131)=2?

334+285—28 1T 2(—
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SSC CHSL (10+2) 2022

®* Two different positions of the same dice are shown, the six faces of which
are marked by Ant, Bat, Cat, Dog, Egg, Fog. Select the word which will be
on the face opposite to the face showing 'Dog’.

* Ueh B UTH <hY ST AT T-21eT Refaat fomg 8 E, ™AW 9 ©: wetes =iet,
THTeE, forectt, o, 3ieT, Sigl S sifehd g1 3§ 973 st wra shifsTg
ST T ATeT HeTeh o fIUdid thereh UX gRTTN




SSC CHSL (10+2) 2022

* Pointing to a lady in a photograph, Vijay said, ""Her sister's mother is the

sister of my father's daughter.'" How is the lady related to Vijay?

* Ueh AEAR § Uk wigen Y oTR 39T R 7u, forerer 3 e, eaeht @
AT, B U <At gelt <t e 81" 98 wige, fosia # fohe ek Feiterd 82

\/ Mother
=
1ec

C.Daughter
D. Sister




SSC CHSL (10+2) 2022

®* Which of the following numbers will replace the question mark (?) in the

given series?

* E TS HTEAT H T+ | | i | GEAT THATAH T (?) T TTareTiud e

* 28, 40, 2 ,%)22, 46

C.44
D.42




SSC CHSL (10+2) 2022

* If it was Tuesday on 3rd March 2020, then what was the day of the week

on 3rd February 2019?
. uﬁ@nﬁ 2020 ! HITASR 2T, a‘rEwa'ﬁ 2019jaﬁmsmaﬁ=rmﬁ=r oT 2
ﬁ - =
QFek 2el9g . \ .,’ A.Wednesday
Al | I . Friday
f ‘ \/I:j Sunday

D.Monday




SSC CHSL (10+2) 2022

®* Which letter group will replace the question mark (?) to complete the given

series?

* &Y T SETAT ST YUT ohi o ToTT i AT 78R THE THATE (oG (?)
TfaeeTtud SeT?

Y g
* ETRE, AZJG, WFBI, SL.TK,?




SSC CHSL (10+2) 2022

® In a certain code language, "HISTORY' is written as 'SRHGLIB' and
'RECORD' is written as 'IVXLIW'. How will 'ARCHIVE' be written in

that language?

* Uk TAT3a e W H, 'HISTORY' &1 'SRHGLIB' o &0 # ot St 8 iR
'RECORD' &' 'IVXLIW' &% &9 H fe1@t SA1daT 31 39 9T o '%Xﬁcy}VE' |

&Y TerE ? &= \&
e \ — 1XS P\%IXSGEL
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SSC CHSL (10+2) 2022

®* Which of the following number will replace the question mark (?) in the

given number series?

» FraferRaa & & st wt weaT 3t g dEar st § wy g () it afaettua

T2
* 56, 68,2, 128, 176<§/36
AV
|7)(l \?CL S A. 80
|x¢ 12XS ! / B.116
g §_ . / 74
9% Qo927




SSC CHSL (10+2) 2022

* Select the option that is related to the fifth term in the same way as the

second term is related to the first term and the fourth term is related to the
third term.

* 39 Tarehed hT T3 shITSIT ST UTerd Ug © FHT TehR Helferd g, e Tehr gg
U, gt UE H 3R el ug, T ug | Heifer

. DENIAJV: IANDEL :: OBJECT : ECJOIﬁ : FLAVOR : 7 Fivo AFLES

\ 0/ ) & —D-OVEARL




SSC CHSL (10+2) 2022

® Find the value of question mark

* T2y TeIg hT HTH AT hITSTU
. 712 2
2+3=108 \;5% .
* 3+5=1125 V22
° 4+5=7 s
) A A.ZOO

B. 2200
C.2400

D.None of these




SSC CHSL (10+2) 2022

* Statement:

* Some red are blue./sh® T ATed 2
* All blue are green./@T T FE

®* No green is pink./?:l-ﬁ'é %'{T‘J;I'c"lTa"’f:I%"r 2

® Conclusion:

‘ A. T FeeRd 1| STTeRr e
* 1. Some red are pink./sh® T gﬁl‘lﬁﬁ%lx /I{ FAA TSR | 30T hidT &

® 2. No red is pink./shT3 TITeT AT T 21X \/{ C. 3T s =T 11 WUTEI?{HT%
I3t

D.F R g1 11 ATET




~ $SC CHSL (10+2) 2022

® In question below shown, count the number of triangle and squares.

o i< Iy MU Wy ® ST SR ot sht HeEt )

o

B28-trrangies, 5 squates-

. ] _ ares
—D28-trramngics, 6 squares




SSC CHSL (10+2) 2022

® In a row of boys, A is fifteenth from the left and B is fourth from the right.
There are 3 boys between A and B, C is on the immediate left of A. What is

the position of C from the right?
* AZh! hI Uk Ufth W, A IT0 & GZAT 2 3T B 270 T =T Bl A 3R B & =1 3
TASH 3, C, A % 3Ih 91U 2| ST H C hT TATH FJT 2?2

LHS v\ .
. ‘J’IiL‘ QHS A.12a1
Y E — B 134T
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SSC CHSL (10+2) 2022

* City G is to the east of city H. City F is to the south of city G. City E is to
the west of city F. City H is in which direction of city F?

* IR G, T H & T8 § 7 I F, I G & STA0TH gl IR E, IR F o G2 o
1 ITER H, WX F & formr fomr & 22

A.South-East
B. South
. South-West




SSC CHSL (10+2) 2022

® 21 workers can make 1500 rotis in 18 days. How many workers are

required to make 1000 rotis in 21 days?

* 21 firer 18 2T & 1500 W T Tehet 21 21 AT & 1000 T 7= & ferw
fora afrent &t sTTagaeRaT gidt 22

|\ 0 A.10
B.12
C.15

D. 16




